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0 0 | F=X+Y

0 1 | F=X-Y

1 0 | F=X+1

1 1 [ F=Y-1
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Q1. The question deals with a 1-bit nmable processor modhle. The function table of ~ F A H¥Bb)
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Q5. Write a program to perform X1+Y1 and set the MSB and LSB to 1.

40401
nsHe LLse
1 Ome o~
S[ADPA Ry xA#Y s
Lo®s 0 SuefA Ry x4-y4¢3
AND A RH
Lo Rt x1
po0h  RA LoR{ $1H
L0 R+ y4 OR B R1

Lol

Ff

)D/_. Sar
HH ..,

s Loofy
o % o

LF=<F

o
»
)

— Cod”

> 100 AAgo

A s3<ocose
LRI

I expression
Pocaroy h
¥ !/Lfm Dutet A—{>v Foi
—>CinzQ ¢
Inverter
74 (NOT gate) "% Do—v v=&
>Cmz|
s
A Y=A+B
ORgate | o Y
in A
Set
i Opcode A veagE
Register Transfer 8 :)Dv
LDRI Load R1 from input; RI=INPUT
LDRC Load RC from input; RC= INPUT
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Arithmetic Operations: jDV Y=hoB
ADDA = Acc + R1
SUBA ce= ACC-R1
INCA =Acc + 1
DECA z
EC-RC Dec R( R( RL 1
Logic O
ANDA And Acc with R1: Acc=Acc&R1
ORA Or Acc with R1: Acc = Acc |R1
XORA XOR Ace with R1: Acc =Acc XOR R1
NAND Invert Acc; Ace = Ace NAND R1
SLA Shift Left A Acc*2
SRA Shift Right Ac c = Acc/2
Control flow
BNEQZ branch to start if RC !=0; goto state
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